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(A) B E= LB A 100N/ MEH R DRI DFEEND 71 D FRAEKRN/m) (E) #HEEMIEREZ DX DHFRD 5 DR KIEKN/ m) %gé%ﬁgéﬁgqu*z&)%@;j;_laéfui—féjg _E il il
R A T 1 e I G e
D) CNLZBEM AT ZHEENDLTEZENEE(m) H) (@F LHBEM AT IBENDTEZEDEE(m) DREFAENEET HIENTED,
HETHELYTHDLEEONDOKES SMESHND T EZDNHOKRES
EHES % =
(A) B © (D) (E) ) @ (H) (A) ®) © (D) (E) B @ (H)

1) 102.9 1.0 99.9 1.0 - - 11.0 2.2 102.9 1.0 96.9 1.0 - - 11.0 2.2

(2) - - 82.6 1.0 - - 13.1 2.6 - - 82.6 1.0 - - 13.1 2.6

( 3) 135.2 1.0 99.5 1.0 - - 13.1 2.6 135.2 1.0 99.7 1.0 - - 13.1 2.6

( 4) 153.2 1.0 99.5 1.0 15.7 3.1 15.2 3.0 153.2 1.0 99.7 1.0 15.7 3.1 14.7 2.9

( 5) 142.0 1.0 99.5 1.0 - - 14.7 2.9 142.0 1.0 96.4 1.0 - - 14.7 2.9

(6) 151.1 1.0 100.0 1.0 16.6 3.3 15.1 3.0 151.1 1.0 99.9 1.0 16.6 3.3 14.7 2.9

7)) 1475 1.0 100.0 1.0 16.1 3.2 15.2 3.0 1475 1.0 96.9 1.0 16.1 3.2 14.5 2.9

( 8) 144.4 1.0 98.9 1.0 - - 14.8 2.9 144.4 1.0 99.7 1.0 - - 14.8 2.9

(9) 144.4 1.0 99.9 1.0 16.4 3.3 15.0 3.0 144.4 1.0 99.7 1.0 16.4 3.3 14.8 2.9

(10) 150.7 1.0 99.6 1.0 175 35 15.2 3.0 150.7 1.0 994 1.0 17.5 35 14.1 2.8

(11) 135.8 1.0 99.9 1.0 - - 13.6 2.7 135.8 1.0 96.9 1.0 - - 13.6 2.7
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